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Logical Reasoning Questions for CLAT Exam.

CLAT Reasoning Quiz 33

Directions: Read the questions carefully and choose the right answer.
1. Select the related words from the given alternatives.

Derby : Horse : : Kambala : ?

A. Cow B. Camel C. Buffalo D. Elephant
2. Find the odd letters from the given alternatives.

A. AE B. EJ C.JO D. OS

3. Find the missing term of the series.

25,36,29,32,33,28,7

A. 27 B. 32 C. 37 D.24

4, Statement: A village is situated beside a national highway.
Many vehicles run on the highway.

Conclusions: I. Villagers face sound and air pollution.
Il. Villages are connected with the cities.

A. Only | follows B. Only Il follows C. Both I and Il follow
D. Neither I nor Il follows

5. Rina started walking 4m in North direction from point X, she took right and
walked a distance of 10m, then she again took a right and walked 9m, after that
she walked a distance of 22m in west direction and then stopped.

How far and in which direction is she from the starting point?

A.12m, North B. 13m, South-west C. 11m, North D. 10m, South

6. Pointing to a man in the park, Aliya said," He is the uncle of my daughter's father's
sister." How is Aliya related to that man?

A. Niece B. Daughter-in-law C. Aunt D. Daughter




1. Five persons- J, K, L, M and N are standing in a row facing south. M is at one of the
extreme ends adjacent to N. J is standing in the middle of the row. K is to the right of M
and is not an immediate neighbour of J.

Which of the following pairs denote the persons at extreme ends?

A M-J B.M-N CL-M D.K-M

8. Arrange the given words in a meaningful order and select the option indicating the
correct order.
1. Registration 2. Examination 3. Advertisement 4. Result 5. Selection

A. 31245 B. 23154 C. 32154 D. 42135

9. Select the related letters from the given alternatives.
NPR :0QS::GIK:?

A. LUH B. HIJL C.JLN D. FHL

10. If TOBACCO is coded as OQCYBET, then what is the code for ‘PEACOCK’?

A. KGOABEP B. KGPAAEP C. KGOAAEP D. KHOAAEP

Correct Answers:

1 2 3 4 5 6 7 8 9 10
C A C C B B D A B C
Explanations :
1. First one is the race of the second one.
The race of buffalo is called Kambala.
Hence option (C) is correct.
2. All others except option (A) represent pair comprising a vowel and a consonant, but in option A both

letters are vowels.

Hence option (A) is correct.
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Hence option (C) is correct.

Statement: A village is situated beside a national highway. Many vehicles run on the highway.

Conclusions: I. Villagers face sound and air pollution.
Il. Villages are connected with the cities.

If villages are situated beside a national highway, we can easily conclude that the villagers have to bear
the sound and air pollution generated by the vehicles that run on this highway. Plus, if a highway is
beside the villages, it's clear that villages are connected with cities.

Both C1 and C2 follow.

Option Cis correct.

From the below image it is clear that Rina is 13m south-west from the starting point X.
Using Pythagoras theorem, we have calculated the distance as 13m.

10m
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B

End o :

Hence option (B) is correct.

Aliya's daughter's father means Aliya's husband. Thus Aliya's daughter's father's sister means Aliya's
husband's sister.

Uncle of Aliya's husband's sister means Aliya's father-in-law.
Thus Aliya is related to that man as his daughter-in-law.

Hence option (B) is the correct answer.




From the following image it is clear that M and K are standing at extreme ends.

Hence option (D) is correct.

e
KL JNM

The correct sequence is 31245

The sequence represents the recruitment process of various competitive exams.

First stage is "Advertisement", where the recruitment notification is advertised.

Then comes the "Registration” part, where willing candidates get register theirselves.
After Registration of candidates "Examination" takes place.

And then comes the "Result" of such examination.

Thereafter "Selection" took place.

Hence option (A) is correct.

N PR

N 2\”
+1+1+1

N2
oQs
Similarly,
G I K
N2
+1+1+1
HJ L

Hence, option B is correct.




10.
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Similarly,

P EACOC K
T

*_f-’ -_____hhh‘

K G O A A E P

Hence, option C is correct.
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